Name:

SCH 3U Balancing Quiz

Write balanced chemical equations for each:

a)

b)

c)

d)

e)

f)

g)

h)

1)

)

synthesis of calcium sulphite from calcium oxide and sulphur
dioxide

Ca0O + SO, = CaS0,
decomposition of ferric oxide
2Fe,0; =» 4Fe + 30,

pentane (CsH;,) is burned in oxygen to form carbon dioxide
plus water vapour

C.H,, + 80, =» 5C0, + 6H,0

stannic chloride undergoes a single replacement reaction
with aluminum metal

3sSnCl, + 4A1 =» 4A1Cl1; + 3Sn

barium hydroxide and phosphoric acid undergo a
neutralization reaction

3Ba(OH), + 2H,PO, =» Ba,(PO,), + ©6H,0

cobalt (IT) chloride hexahydrate (CoCl,*6H,0) undergoes
thermal decomposition to form cobalt(II) chloride plus water

CoCl,*6H,0 =» CoCl, + ©6H,0

Calcium chlorate decomposes to form calcium oxide plus two
diatomic gases

2Ca(Cl0,), =» 2Ca0 + 2Cl, + 50,

potassium periodate and lead(II) nitrate undergo a double
replacement

2KIO, + Pb(NO,), =» Pb(IO,), + 2KNO,

aluminum carbonate and potassium metal undergo a single
replacement

Al,(CO,), + 6K = 3K,CO, + 2Al

lithium sulphate and auric nitrate undergo a double
replacement reaction

3Li,S0, + 2Au(NO,), =» 6LiNO, + Au,(S0,);



Bonus: (hint: use changes in oxidation state to facilitate
balancing)

(3e— lost per V) x 5 = 15e- total

2+ 1- 1+7+ 2- 1+ 1- 5+ 1- 1+ 1- 2+ 1- 1+ 2-
5vCl, + 3KMnO, + 24HC1 =» 5VCly + 3KCl1 + 3MnCl, + 12H,0

(5e— gained per Mn) x 3 = 15e- total



